Emoji Addition to 20 Mosaic

Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:

20, 12, 16, 19, 8 = white 18,15, 11,13, 9, 7, 3 = yellow
17 = black 10, 14, 5 = red

2+18 6+6 10+8 0+9 N+7 1+2 542 18+2 16+4

19+1 0+3 1+8 3+0 949 445 1+6 13+5 5+7

5+4 19+1 10+6 7+5 15+3 10+2 10+10 7+5 8+10

6+5 5+7 3+14 18+2 447 19+1 9+8 4412 9+2

6+12 9+7 2+18 6+6 7+11 6+6 5+7 5+15 18+0

5+10 2+13 8+7 1540 7+4 14+4 7+6 4414 2+13

4411 3+10 3+8 9+5 4+6 2+3 8+1 NM+4 8+5

2+11 8+1 6+5 2+3 0+5 1M+3 1+6 7411 445

8+8 8+5 447 9+1 10+4 5+9 249 9+4 7+5

10+6 0+20 449 2+1 9+2 5+6 1043 1M+5 4412
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Emoji Addition to 20 Mosaic Answers

Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:

20, 12,16, 19, 8 = white

18,15, 11,13, 9, 7, 3 = yellow

17 = black 10, 14, 5 = red
2+18 6+6 10+8 0+9 1+7 1+2 5+2 1842 16+4
19+1 0+3 148 3+0 949 4+5 1+6 1345 5+7
5+4 19+1 10+6 745 1543 10+2 | 10410 745 8+10
6+5 5+7 18+2 4+7 19+1 9+8 4+12 9+2
6+12 9+7 2+18 6+6 7411 6+6 5+7 5+15 18+0
5+10 2+13 8+7 15+0 7+4 14+4 7+6 4+14 2413
4+11 3+10 3+8 8+1 11+4 8+5
2+11 8+1 6+5 1+6 741 4+5
8+8 8+5 4+7 2+9 9+4 7+45
10+6 | 0+20 4+9 2+ 9+2 5+6 10+3 1145 4+12
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Emoji Subtraction to 20 Mosaic

Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:

4,11,16, 2, 9, 13 = white 3,5, 6,10, 14, 17 = yellow
1,12, 15 = black

14-1 10-1 20-6 20-3 18-4 15-1 19-2 20-18 | 20-M

20-18 | 13-10 | 15-10 9-3 20-15 19-5 18-12 3-0 7-5

17-1 4-1 16-2 10-4 19-5 12-6 15-12 | 20-17 | 14-0

20-19 | 19-4 12-0 9-8 17-5 16-15 17-5 20-5 9-8

20-3 16-1 13-1 20-19 19-9 19-4 18-6 15-0 19-5

20-3 7-1 13-3 17-1 15-12 16-13 16-2 15-9 9-3

15-1 18-1 15-1 18-4 14-0 19-5 10-1 13-10 10-4

8-2 17-14 12-2 19-6 20-n 14-1 12-10 8-2 12-6

10-1 20-17 9-6 18-8 11-1 18-15 12-9 | 20-10 4-2

10-8 19-6 10-7 12-2 14-9 10-0 16-6 12-10 | 17-15
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Emoji Subtraction to 20 Mosaic Answers

Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:

4,11,16, 2, 9, 13 = white 3,5, 6,10, 14, 17 = yellow
1,12, 15 = black

14-1 10-1 20-6 20-3 18-4 15-1 19-2 20-18 | 20-T
20-18 | 13-10 15-10 9-3 20-15 19-5 18-12 3-0 7-5
17-1 4-1 16-2 10-4 19-5 12-6 15-12 | 20-17 14-0

9-8 17-5
20-19 19-9
20-3 7-1 13-3 17-1 15-12 16-13 16-2 15-9 9-3

15-1 18-1 15-1 18-4 14-0 19-5 10-1 13-10 10-4

8-2 17-14 12-2 19-6 20-1N 14-1 12-10 8-2 12-6
10-1 20-17 9-6 18-8 1-1 18-15 12-9 20-10 4-2
10-8 19-6 10-7 12-2 14-9 10-0 16-6 12-10 17-15
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